


BT W

Micro Swithes(MB Series)
W General features

» Approx. Dimensions: 50x20x17 mm

» 13 Various models witch different actuator models

» Copper-Silver alloy contacts. Can also be delivered witch Gold coated contacts.

» Body made of Thermoset material (Bakelite) with high electrical, thermal and mechanical resistivity
» Screw-type terminals

» Two installation possibilities, Side and Top (suitable for panel mounting)

» Easy installation, suitable packing, quick delivery

» (Optional Terminal Cover (MB-Cover, Ref. to page 104) to raise protection degree to IP62

Technical data

Operating frequency* 110 1000 (mm/sec)

120 ops. per min. without load.

Breaking capacity 20 ops. Per min. with load.

Contacts resistance Max 15 m Q (125gr operation press weight)
(Initial value) (Resistance increases with lower operation press weight in models.)
Dielectric Strength 1000VAC, 50 Hz, between terminals of same polarity
Destruction at 1000 m/sec?
Shock resistance Malfunction at 50 m/sec?
Correct operation at lower shock acceleration
Electrical shock protection Class A
Lif 1,000,000 breakings without load
e 100,000 breakings with load
Degree of Protection P00

IP62 (with MB-Cover)

-25 to 80 Celsius degrees

GO e D LY -15 to 80 Celsius degrees (with MB-cover)

Ambient operation humidity max 85% (-25 to 80 Celsius degrees)
max 95% (-15 to 80 Celsius degrees) (with MB-cover)
Weight* (Gram) 42-48

*. For models with pin plunger actuator

In order to understand the product model numbers, please view the bellow guide.
Each model is defined by a six letter code described below:

w w 1 5 w w With or without

3 _
s 8
£ g
»n D MB-Cover
o m|m
s = 0: Without MB-cover
= Product 1: With MB-cover
M: Microswitch Actuator
A: Pin plunger
Series B: Slim spring plunger
—B C: Short spring plunger

D: Panel mount plunger
E: Panel mount roller plunger
15: 15A at 250 VAC F: Panel mount cross roller plunger
G: Leaf spring
H: Roller leaf spring
I: Short hinge lever
J: Long hinge lever
K: Short hinge roller lever
L: Long hinge roller lever
M: Short hinge cross roller lever

<>
-~ WWW.TRS.CO.R



@ MB Series Technical Drawings and Dimensions

u Drilling Guide

4.2

A. Side Mount (all models) _"_/ _.
|<_ 25.4+%0.1 —>|

Two 4.2 mm holes suitable for M4 size screw.
Screw tightening torque is approx. 1.18 to 1.47 N/m.

M4
B. Top Mount (below types only)
For panel mounting. _ ::5+0_2 - 125402
Tightening torque is approx. 2.94 to 4.9 N/m. [l
13+0.2 /
ME15Ex MB15Dx
MB15Fx

Attention: Please do not install the switch using both above methods at the same time, as it will result in switch damage.

+0.075
4.27 0.025

+«—23.3%£0.25—
+0.075
4.276.025

f——.' . Cj/ 91.2 24.2
L LGZI_/ ~ | = :

4.364_.0_05
+11.9 »| 17.45%0.25

«—25.4+0.1—>

49.2

MB15Bxx N

_1«—23.340.25—» +0.075 (|4
4.276025 ﬁ
e | | A

24 [T -

_—., Cj/ f 242

F :
] [ ]
43634 L il
0.05 '—vj—/ [

?—25.4+0.1—><—11.9-> 17.45%0.25
49.2

(MB Series)

(%]
(%]
=
(=]
=
=
)
o
e
=
=

o~ WWW.TRS.CO.R



MB Series Technical Drawings and Dimensions

) +0.075 12.3
128R i 93.3+0.25—» 4.2 0025 10
[« ({7.15
= =
4.2:88%2

_—.' Cj/ $ 24.2

*

= = 9.2
4.36%9ds !

«11.9 | Foct

«——25.4+0.1—»

49.2 17.45%0.25
M.9SR] i« 23.3+0.25—» 8.35
[ P "| |" M12x1
422488 =
7 C ) U
3! " . {°2
T an . ~N :ﬁ o
4.2+0.075 e 16 ol 3
16.3 -0.025
| — 4
. Jl ¥ 24.2
] i ]
- 9.2
43619, = i
——25.4+0.1—>i+11.9 »| va—l
49.2 17.45%0.25
«—23.3%0.25—> /12.7 x 4.8°1
2
4 421495
15.5 °3
v v
T T | ~N M12x1
16.3 4-2f8:82755 - 16
| — 4
: Jl 1 24.2
] LA 9.2
4.36*34s *\ﬁj/ |
25440 1—»«11.9 =
49.2 17.45%0.25
S _
+—23.3+0.25— 12.7 x4.8°1 & 3
o M|
. E=
4 42:40% 2 =
155 3 - /
D= | I N M12x1
16T_3 4-2f8f827§ 16 -l
l | —
T | 24.2
+0.1 <= \Ej/ = 912
4.36_0:05 l
«——25.4+0.1—>i«11.9 »| [B—
49.2 17.45%0.25

/1'02>
WWW.TRS.CO.IR



+0.075
4.270023

.

4.2:88%8

] 24.2

i O Cj/ o2
4363 | ‘ = l

-36-0.05 . [
«——25.4+0.1—>ie11.9 5 T
49.2 4570.25
9.2x4

+0.075
4-2-0.025

4.2:58%8
] i ]
9.2
436'3, = 1
«——25.4+0.1—>ie11.9 5| | -
492 17.45%0.25
26.2
49
: _
202 61_9 4.2:8.013
I [
4 /l \/\ 912
] [ | 4.2+0.075 ;
4.36%01 == <={4.2 0025 !
-96_0.05 . ]
«——25.4+0.1—>i«11.9 »
492 17.45%0.25
3 _
S8
o MB1SJx
[==]
§% %2
= : 49
+0.075
202 4o 42828 : 1?{9
> e ;
T |
4 +0.1 I \ﬁj/ = 4_2L82755_ 912
367005 . ]
«—25.4+0.1—>i«11.9 »|
492 17.45%0.25

o~ WWW.TRS.CO.R




MB Series Technical Drawings and Dimensions

9.5x4

T '
T +0.075 ) 1
20.2 16.9 4.27 0058 : 19
| —— o
. Sd NAN 912
+0.1 =z I j/ L“" I 42f882755 [ | l
4.367005 S I oy
——25.4+0.1—>ie11.9 »|
492 17.45%0.25

I '
f +0.075 1
202 o o 42788 : Ay
| T o |
X \Jl \/‘\
] I 4.2f0.075 T
o =l R 92
«——25.4+0.1—>i«11.9 | [
49.2
17.45%0.25

T s
f +0.075
202 169 42002 13.9
1 i (i 0
. \Jl AN 912
4 36+0.1 I "II L\ﬁj/ r:“"ll % | l
- -0.05 qu—l
«——25.4+0.1—>i«11.9 »|
49.2 17.45%0.25

3
E )
2 2
= =
= o
[
o M|
=

S =
=

This Rubber packing improves the sealing of switch housing and the switch terminals to protection degree IP62.
This item can be ordered separately by order code “MB-Cover”.

/164>
WWW.TRS.CO.IR




